
11+ For You – Verbal Reasoning Test Paper 3 

 

Copyright @  ‘11+ For You’ 2010 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

���������	�
����
�����	�	�����		������	���������

�

�����������������
	��
���������	��
���

�

��������������
�	���	��������	��	���	��	��

�

��� ������
�!����������
��
�	����
�!�������	��

�

�� ��������

����	� ������������". 

 

#���$%�



11+ For You – Verbal Reasoning Test Paper 3 

 

Copyright @  ‘11+ For You’ 2010 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

In these questions you must choose one word 

from the top line and one word from the bottom 

line that you think are the most opposite in 

meaning. 

 

Example 

 

(high  right  trust) 

(left  write  verify) 

 

Answer = right   left 

 

Question 1 

 

(thought   marvel   sprint) 

(trudge   article   develop) 

 

Question 2 

 

(acquire   agitated    suffice) 

(property   calm   remain) 

 

Question 3 

 

(contend   fill   void) 

(alone   empty   ransom) 

 

Question 4 

 

(elegant   selfish   potential) 

(glamorous   worthy   generous) 

 

Question 5 

 

(alone   bizarre   gritty) 

(together   stones   singular) 

 

Question 6 

 

(terminate   despair   bargain) 

(cheap   anguish   begin) 

 

Question 7 

 

(gallant   opinion   equal) 

(ruthless   lasting   unfair) 

 

In these questions you must decide which 

number comes next in the sequence. 

 

Example 

 

3   6   9  12  15  (?) 

 

Answer = 18 

 

Question 8 

 

27   33   39   45   51   (?) 

 

Question 9 

 

 18   36   28   56   48  (?) 

 

Question 10 

 

 71   65   62   56   53   47 (?) 

 

Question 11 

 

 13   26   14   28   16   32  (?) 

 

Question 12 

 

 7   13   18   22   25   (?) 

 

Question 13 

 

 92   83   75   66   58   (?) 

 

Question 14 

  

46   60   30   44   22   (?) 

 

Question 15 

 

Two years ago Charles’s mum  Clare was twice 

as old as Charles will be next year.  If Charles is 

22 next year how old is his mum? 
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In these questions you must choose two words 

from the five words that you think are the odd 

ones out. 

 

 

Example 

 

arm   leg   human   tongue   person 

 

Answer = human   person 

 

 

Question 16 

 

anger   fury   placid   rage   emotion 

 

 

Question 17 

 

tense   supple   firm   rigid   flexible 

 

 

Question 18 

 

milk   cheese   dairy   cow   yogurt 

 

 

Question 19 

 

bicycle   car   motorbike   tandem   plane 

 

 

Question 20 

 

endless   terminate   continual   time   eternal 

 

 

Question 21 

 

tie   shirt   bind   entwine   rope 

 

 

Question 22 

 

liner   sail   ocean   tug   tanker 

In these questions you must work out how to 

make the number in the middle of the brackets 

by using the numbers on each side. 

 

Example 

 

2  (12)  6      14  (28)  2      12   (?)   3 

 

Answer = 36   

 

 

Question 23 

 

31  (17)  14      47  (38)  9      16  (?)  7        

 

 

Question 24 

 

12  (36)  12      27  (60)  6      8  (?)  13 

 

 

Question 25 

 

26  (10)  2      36  (6)  4      66  (?)  11 

 

 

Question 26 

 

45  (62)  17       23  (52)  29      78  (?)  19 

 

 

Question 27 

 

77  (14)  11     36  (4)  18      108  (?)  9 

 

 

Question 28 

 

104  (18)  68       16  (1)  14      63  (?)  13 

 

 

Question 29 

 

14  (39)   3      11  (70)  7      23  (?)  4 
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In these questions you must choose the words 

that best complete the sentences. 

 

Example 

 

man is to (woman   human   boy) 

as girl is to (child   boy   female) 

 

Answer = woman   boy 

 

Question 30 

 

ewe is to  (person  cow  sheep) 

as mare is to  (horse   goat   monkey) 

 

Question 31 

 

club is to   (cards   golf   cub) 

as loaf is to (oaf   fool   load) 

 

Question 32 

 

sapphire is to  (blue   red   jewel) 

as emerald is to  (expensive   rock   green) 

 

Question 33 

 

Indian is to  (warrior   India   ocean) 

as Thames is to  (country  river  land) 

 

Question 34 

 

read is to  (book   reed   words) 

as whole is to (entire   collect   hole) 

 

Question 35 

 

fraction is to (percentage  half  maths) 

as monarch is to (history   reign   literacy) 

 

Question 36 

 

GP is to (garden   initials   doctor) 

as MP is to (letters   laws   politician) 

 

ABCDEFGHIJKLMNOPQRSTUVWXYZ 

 

In these questions you must decide which two 

letters come next in the sequence 

 

Example 

 

AB is to CD  

AS EF is to (??) 

 

Answer = GH 

 

Question 37 

 

FE is to  AZ  

As TN is to (??) 

 

Question 38 

 

PS is to XZ  

As DN is to (??) 

 

Question 39 

 

OK is to NN  

As BC is to (??) 

 

Question 40 

 

PV is to XC  

As HU is to (??) 

 

Question 41 

 

KM is to JN  

As SP is to (??) 

 

Question 42 

 

HZ is to AF   

As EA is to (??) 

 

Question 43 
 

WB is to DY   

As KM is to (??) 
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In these questions you must choose the words 

that are most similar in meaning to the words in 

brackets 

 

Example  

 

(even   equal) 

(amusements   circus) 

 

Answer = fair 

 

Question 44 

 

(pole   stick)  

(employees workers) 

 

Question 45 

 

(shove   push)    

(liner  yacht)   

 

Question 46 
 

(tip   spike)   

(indicate   signal) 

 

Question 47 

 

(rhythm   pulse) 

(hit   strike) 

 

Question 48 

 

(ounce   gram)    

(hit   punch) 

 

Question 49 
 

(surround   enclose)  

(ring   round) 

 

Question 50 

 

(clever   intelligent)    

(brilliant   gleaming) 

In these questions you must decide how the word 

in brackets has been made from the word on 

either side.  You must use this pattern to 

complete the final word. 

 

Example 

 

(grades  read)   (urchin   rich)   (whales   ????) 

 

Answer = heal 

 

Question 51 

 

(argued   aged)   (breast   best)   (filled   ????) 

 

Question 52 

 

(castle   else)   (famous   sums)   (moaned   ????) 

 

Question 53 

 

(kissed   disk)   (leaped   deal)   (really   ????) 

 

Question 54 

 

(gerbil   bill)   (fables   less)   (postal   ????) 

 

Question 55 

 

(polite   toll)   (delete   tell)   (castle   ????) 

 

Question 56 

 

(fourth   hour)   (postal   lost)   (beaten   ????) 

 

Question 57 

 

(oldest   test)   (advent   tent)   (trudge   ????) 

 

Question 58 

 

(active   cave)   (affair   fair)    (postal   ????) 
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In the following questions you must take one 

letter out of the word on the left and add it to the 

word on the right.   You must leave a word on 

the left. 

 

Example 

 

ready      awning 

 

Answer = y 

 

Question 66 

 

voles   lip 

 

Question 67 

 

drugs   bran 

 

Question 68 

 

slope    rod 

 

Question 69 

 

misty   earn 

 

Question 70 

 

float   mat 

 

Question 71 

 

sight   shun 

 

Question 72 

 

crate   law 

 

In the questions the letters stand for numbers.  

Work out the answer to each sum and then mark 

the answer as a letter on the answer sheet. 

 

Example 

 

If A= 1 B = 2 C = 3 D = 5 = E = 6 

What is A + B + C = (?)    Answer = E 

 

Question 59 

 

If  A = 4   B = 17  C = 18  D  = 7  E = 12 

What is A + D + C –  E = 

 

Question 60 

 

If A = 18 B = 45  C = 5  D =  13 E = 4 

What is B ÷ C + D – E = 

 

Question 61 

 

If A = 4 B = 3  C = 8 D =  7 E = 9 

What is B x C ÷ A – B  = 

 

Question 62 

 

If A = 18  B = 27 C = 2  D = 33  E = 0 

What is C x B x E + D = 

 

Question 63 

 

If A = 12 B = 18  C = 7  D = 11  E = 26 

What is A + B + C - E = 

 

Question 64 

 

If A = 7  B = 2 C = 5  D = 18 E = 3 

What is E x A + B - D = 

 

Question 65 

 

If A = 47 B = 25 C = 6  D = 12  E = 25 

What is  D x C – A  = 

Question 73 

 

What day was it yesterday if three days after 

tomorrow it is Wednesday? 
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In these questions you must decide which two 

words are the most similar in meaning.  You 

must choose one from the top row and one from 

the bottom row. 

 

Example 

 

(objective   item   piece) 

(lesson   aim   peace) 

 

Answer = objective   aim 

 

Question 74 

 

(confer   quest   promote) 

(tree   discuss   leave) 

 

Question 75 

 

(dismal   hinge   hinder) 

(wander   awful   heave) 

 

Question 76 

 

(passive   dangle   evolve) 

(suspend   pensive   loathe) 

 

Question 77 

 

(intervene   sole   complete) 

(guess   finish   soul) 

 

Question 78 

 

(docile   dote   deceive) 

(peaceful   point   elegant) 

 

Question 79 

 

(contest   argue   volume) 

(competition   content   agree) 

 

Question 80 

 

(retrieve   slant   opinion) 

(hurtle   push   slope ) 

 


